It

DAL (9] SEft) Wik B R A RABR S it il 2

(— %)
=P I\ :BT%)EH?’E > ¥ =, ¥ ISR AN ¥ Bl Gk deiz L2 S5
R X 7 B HOAE K ZERER | BB E S| kiR
T 3 65 4 42 4 1 4| 42.0
LR [EFRpE
AR 3 9 4 7 4 4 4 1.8
AFRE [ R
fe e gl PN O | 3 4 2 4 1 & 20
4 FE [ R
CERRsa e 1 4 4 4 4 1 4| 4.0
K FRE [
AR AT R 1 4 £ 3 4 0 4 -
L TRIE [ERR
SeEE L 1 49 4 36 4 2 4| 18.0
2 FEE {EF
i 22 i 1 1 % 1 4 0 4 -
LR [EFRpE
B HE R 20 100 4 90 4 20 4| 4.5
AFRE [EFRE
WHEsEE  [ERzE-mAE 3 110 4 76 4 4 41 19.0
4 FE [ R
BR BT B 2 e 32 4 26 4 0 4 T
At 36 377 4 287 4 33 4| 8.7
AT Ry
(EALE)
RERX 4y **Tgm HIA B 5% ZERER | AR ERl  BEER
K2R
R EoRER 2 10 4 10 4 2 4| 5.0
B P g




